Polaris RZR Extreme Front Bumper with winch mount
P/N 10436
Fits: All year RZR accepts up to 3500 1b winch

Includes:

(1) Bumper

(2) Side Brackets (1 LH & 1 RH)

(1) Rear Brace

(1) Bottom support plate (triangle shape)
(8) 3/8-16x1 Hex Head Flange Bolt

(8) 3/8-16 X 1 Black Carriage Bolt

(2) U-Bolt 3/8-16 (3043T37)

(10) 3/8-16 Serrated Flange Nut

9. (4) 3/8-16 Nylon Lock Nuts (for u bolt)

i A o e

10.(4) 3/8 flat washers (for u bolt)
11. (2) 1/8” x 2” Edge Trim for 2011 side brackets.

Installation:

1. Attach rear brace to upright tubes behind
the radiator using the u-bolts and nuts pro-
vided. Do not tighten yet.

2. Attach the side brackets to the bumper us-
ing the 3/8 Carriage bolts. Do not tighten

yet.

3. Attach the bumper assembly that you just
made to the rear brace. Using the Flange
Bolts. Do not tighten yet.

4. Using the remaining hardware attach the
bottom support plate the bumper and the
frame of the RZR. The square holes take a
carriage bolt. Do tighten yet.

5. Tighten all bolts.

WWW.EXTREMEMETALPRODUCTS.COM
OFF-ROAD ACCESSORIES
Cleveland, Ohio




